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The emf induced in the secondary circuit
is caused by the changing magnetic field
through the secondary coil.
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In steady state, the electric and
magnetic forces on an electron
in the wire are halanced.
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Due to the magnetic force on
clectrons, the ends of the

conductor become oppositely
charged, which establishes an
clectric field in the conducior.
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A counterclockwise current [is
induced in the loop. The magnetic
force FB on the har carrying this
current opposes the motion.
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When the magnet is moved

toward the stationary This induced current This induced current
conducting loop, a current is produces its own magnetic When the magnet is moved produces a magnetic field
induced in the direction field directed to the left away from the stationary directed to the right and so
shown. The magnetic field lines that counteracts the conducting loop, a current is counteracts the decreasing
are due to the bar magnet. increasing external flux. induced in the direction shown. external flux.
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